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| The coupling constant G, in the scalar/pseudoscalar|
| channel is closely related to the spontaneously chiral|
| symmetry breaking, which produces a dynamical quark|
| mass, and the tensor/pseudotensor channels term|
NG, (P50 ) + (W 5iZy Aaw§)?] is closely related
| to the spin-spin interaction, which causes spin-polarization | -
| condensation. e




The 2 + 1 Flavors NJL M -

The effective potential of using a standardized process is given
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The collision relaxation time with AMM
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The collision relaxation time without AMM
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